errg ng@uug GIISCES o LBy

GTGHoT

2019
Qumg <ibley

Si@wdasiu_Harar Copb @ 2 wenfl] ) [Qurgs wHLQuaTser : 200

dlanssEnée uHoadlaguea Spsasan. s Plemrsamear sauanonsl Ussa)b.

=

10.

11.
12.

13.

&8 Idleyenraer
@)bs edenrs GsnEuy CGarey Asm_ri@eausnE 15 Hlllhis@hsE (peransns eNammenrUiLig s @hsE eupmisliuGib.
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sflumgss dararerayb. gGsgib @epun® Qmudlan, igamar usg HIOLkisErsGaT Smpsarstafuurarfiib
Qzfeisg, sflwrs o arer Caulprm efamg Qsn@lbGea Qupms Qardarer Cauanr@b. Gatey Qsrmdw Geny,

- wpepulllLre eflemng Qgm@uiy wrHBlé sruuL wr L ng).

ereven aleannasend@ elewall&sa)b. crden eflammés@sb swwnean HOQUaTSEET ClgTemLemneu.

2 msEraLw ufley aanamen @BHsL ussHEla awag Cod apaauid BsnEsa @mwbgerer QL sda Brgdr

15 Ceuam(Bd. Coumy crengu b eflanns QgT@LISIeD eT(P5E snlg).
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Sigplaar s@wpgearar @ o faw soag smenw fln ewvwyeLwu ubsiweas Cuamaamd @hHsss

s Gaan@wn. Cupsdar epen oL gsrafe pusda @hlsss sniLs gaudland GCsreuraneamu

sipleflsamauiler @HlukHerareunm pLculy sans Cop@srarariiu(Bib.

geuQeunn eSenmayd (A), B), (C) wpmitb (D) eren prens, eflen._seners Camam(Hereansy. Brusar sienausafles G eam efwmer

eflenL_emwis Gairey Qalg) eflen. samafle @hsgis sm L Ceuam(Bib. genmis@ Cuopul L sflwren eflenL_ser gm CaerallsE

Bmiusnss smbame Bhsar Bss sfwneng eranm aanss smadlfisCoam sips eleLeaw e ssrafier @hsss

am_ Ceuam(®ub. eruuguwimulgnd em Gaarellss @Cr am oL musstar Csmbsnss Gouamm(Rib. 2 misEseLIL

Quongs wHQuarsar Briser eflan_ssrafle @hsss sm_Hib sfwunen dflen_saflen cramafiismsamul QUIMISSS.
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The electromotive force of a Daniel cell is
A) 1.8V (B) 1.20V

(C) 156V ﬂ 1.10V

Craflwe Wansasdar Weanaflwsa edlans iy
(A) 186V (B) 120V
(C) 156V D) 110V

The approximate chemical composition of Duralumin is
(A) Al =94.5%, Mg =5.5%
B) Al=95%,Cu=4%,Ni=1%
(C) Al=93%, Cu=4%, Ni=2%, Mg=1%
Al = 95%, Cu = 4%, Mg = 0.5%, Mn = 0.5%

g rreylefen Camymwwrer Geud @enwiy

(A) Al=94.5%, Mg =5.5%

(B) Al=95%,Cu=4%,Ni=1%

(C) Al=93%, Cu=4%, N1=2%, Mg=1%

(D) Al=95%, Cu=4%, Mg=0.5%, Mn = 0.5%

Fraunhofer’s lines of the solar system are examples of
(A) Band emission spectrum

~ (B) Line emission spectrum

(C) Continuous emission spectrum

Line absorption spectrum

@&flw Hpwreneuie o drer LgrenGanur Car(H&ear 5D @ e-SryaTn?
(A)  uleL o2 Blpey Hipwrena

B) GCsr(® 2Wpey Hlmwrene

(C) Qg o flpay fpwrene

(D) Gar( 2 dmefiiy fipwrene

S b '  ACGSN9
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4. Total no of nucleus in mammalian RBC is
@), 3 - | ' (B) 2
0 D) 1

ur@niyseile Qrss Aauliy Cewsefld 2arer o smelear aamanisams

24&LD.
@ 3 B) 2
) .0 ! M) 1
5. Purple frog was discovered in August 2017 in

(A) Point calimere

\M Western Ghats, India
(C) Andamans
(D) Himalayas

g &evl 20176 cargm flm seuenar eriiu@ se(H g &L L g7
- (A) Camgwssery
(B) Cune Qzm_i&sl wene

(O <psLomer
(D) @uwreowm
6. Cirrhosis of liver is caused by chronic intake of
(A) Opium M Alcohol
(C) Tobacco (D) Cocaine

&SDOOTD &HMEHD Crmi Spasar_cuhnier asamar QFmLhg 2 | Qarareugned gpuBSng)?
(A)  eulwb (B) <wsanma
©€) yesleame (D) Csrsefen
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Which organelle of the following occurs only in plant cells?
(A) Peroxisome Glyoxysome

(C) Desmosome (D) Ribosome

greuy Qadsafles LRI @)(HEEGD HiewTammIiL] 6T8)?
(A) QurrseCamid (B) denerwinselCamib
(C) QLevCuwrGsmb (D) anCunGamb

“TNDRF” stands for
(A) TN Disaster Relief Fund
j Tamil Nadu Disaster Respbnse Force
(C) TN Drought Relief Force
(D) TN Drought Relief Fund

TNDRF e eflfleunsid

(A) TN - GuAL 8L Hlaumger 5
(B) sWppr® Cuflum byl ue
(C) TN -euprd Sy ueL

@) TN - apié fourser §5

An essential oil present in lemon grass can prevent vomiting

J Gittonella (B) Limonene
(C) Capsaicin (D) Piperine

Qavwen Hyradied 2_erar sﬁnﬁ@mm 50 &G Caeneuwirer erawtblenTis GlLmmeT 618 ?
(A) A Crrempdan | (B) &Guwrefen
(©) Caluemgslan (D) Quifler

5 ACGS/19
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| |

10.  What is meant by ‘UMANG'?

(D) e-courts

“o IDT” GG GTEEN?

(A) Qurenue Gumen Qawed
(B) Sarargn os@uwss)
€ @-eflen

D)  @-BPuwanpiiser

11.  Who was the Chief Minister of Tamilnadu when the second world Tamil conference

was held?

M.G. Ramachandran

M Annadurai

Bakthavachalam

(D) M. Karunanithi

@rearr_meug o8& SO wreTE BeoLGunm Curg SOPBT GET WPSD DMOFFTTS
Q(®bgeuT wimi?

(A)  ord.g). gmnahdlyen

(B) a@memngiany

(C) ussessaw

(D) ew. smeanrrHlS

ACGS/19 6 g



12.  Which committee was appointed by the Government of Tamilnadu to deal with

centre-state relations?
(A) Santhanam Committee

Vohra Committee

y Rajamannar Committee

Sarkaria Committee

wgglw-wrsle 2 meysamer CbUBSS SUINE BUTETED SMSSILILL G 61817
B)  spsneand G

B) Gaumyr @

(C) rregweneri @

(D) srsrfilwr @ep

13.  What are the major issues found in Médhya Pradesh?
W Unemployment and Agricultural problems
(B) Health and Hospital
(C) Drainage and cleanliness

(D) Price rise and road condition

waHw Lﬂg@g,&gélsb sreTULHLD psHw )FsmesET 6Temen ?
(A) Cauemaeumiililereno whmibd eleusmu yFsamarsear
(B) é_LsiJg)suLb LOHMILD O(HSSI6U m@m

(C) eaugsre eusd HMID a;ggtﬂsbrm@

(D) eflena grHmb wHmLD srenesefien Hlene

B 7 ACGS/19
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14.  The Blue revolution is being implemented to achieve
(A) Economic prosperity of textile industlry workers
(B) Economic prosperity of construction sector workers
(C) Economic prosperity of agricultural farmers

M Economic prosperity of fisherman and fish farmers

fBaJ. Yol & e1hg Crnéassnsens 5@;@@@u®§,§au®a§]m@?

(A) e ‘e_f,u;lrrrﬂuq Qgmflefler o erer @g,rr@mrrmr’r&eﬁ!eﬁ QuUTBETTSITT cUETTESS&TE
- (B) sl (wrer Qesmflelle o drer Ggmiflereariseafien QunmeTTgny eueTréfbsns

(©) eleusmu Agmemrerisefer @un@sﬁng,rrrj QUETTESG&TS

(D) Senair wpmb Bany Qgrfererisatien QUTmHeTTSTT euaTTE858T8

15.  The - under which small affordable deposits are made in the bank

accounts of girls, with the benefit of higher rate of interest.
M Sukanya Samriddhi Yojana

() Praddsn Mantei Keishi Sinchayes Yojana

(C) Ujwala Yojana

(D) Pradhan Mantri Jan Dhan Yojana

QuaT GUYh®SsEEEETs 2Hs ey Aol sssmipw wid saTsdd 1Pgbs élsﬂaﬁ]g')@
@auli Qsrens Qsgissib UL sHar QUi ' '

A) ssenwrsbfd HLib

B) Qysw wpHM Afled Hensmud &L b

(C) e HeurmeriLib

(D) Qrsw wHHM wer e H_L1b

ACGS/19 _ 8 i p



16.

{7

Which planet is recognised as “dwarf Planet”?

(A)
(B)

©

Mars
Earth
Saturn

Pluto

erhs Camer ‘@mm s’ erenm SmEsfasstiu@Sng?

(A)
B)
©
(D)

Glaeusumuy
5,16]
gt

LeemGLm

Who is called as the father of White Revolution in India?

(A)
(B)

Anand

Shah Mohammad

J Varghese Kurien

M.S. Swaminathan

QidHwreier Qeuamento Lyl Sufen SHens eram i pésILRLGUIT WTi?

(A)
(B)
(©)
D)

%S
Qg (PSLDG)
eur&en @& lwen

GTLD.6TGN. &HeUMLAIBTS e

ACGS/19
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Kerala (B) Tamilnadu
(C) Madhyapradesh (D) Maharashtra

18. Naple the state whéch has the high sex ratio?

@ndwreiler et Quemm Lmedaned@d oifswns o arer WrBlad 6Tg)?
(A)  Cayerm (B) slpmr@
(©)  wsHwi GyGsswb (D) weanmyreigg T

19.  Which one of the following is correctly matched?

(A) Arthasastra - Megasthanes
- (B) . Indica —  Kautilya
' Harshacharita — Bana
(D) Rat_navali - Chandra Gupta Maurya

Speumeuareupmar e eeanm sflwres QurmbE o arerg)?

A)  onggemavdlyd —  Gusaugefiay

(B) @amgsr - OlaeTig W

(C) agfagsflsbd - LIT@OOT T

(D) GQpgdenmmeuafl — spHrELgswerHwm

20.  Which one of the following is not correctly matched?

(A) Ayurveda —  Medicine
Dhanurveda — Astronomy

(C) Gandharvaveda— Music

(D) Shilapaveda —  Architecture

SpssranuepmieT erg sflwns QurmssiLLelldame?

A)  uyrGeugm - D(H&GIGULD
B) sayiGeugm —  eumatedwiev

- (C)  snpgrauGeugr - @Qens
D) SAevuCaugr - &ligl &&®

ACGS/19 ' 10



21.

22

Who launched the Tamil weekly of “Dravida Nadu” in 1942?

(A) Periyar E.V. Ramasamy

d C.N. Annadurai

(C) M. Karunanidhi

(D) © M.G. Ramachandran

1942 9> e “Hrmefi pr()” eranm SUOLD Uy Qs BTGSeI WTT?

(A)  Quilwr Fr.Qeu. @gmosmd
B) &.een @qe&m;mrrgjmq
(©) erb. smewHl

(D) e.g). @rmosaFnyen

The original name of Koon Pandiyan was

M Nedumaran

(B) Nedunkilli
(C) Nedunchezian

(D) Nedunjatayan

. SaeTumenTig welle 2 erenLowimen Gl

(A) Qp@ETmen
(B) Qp@mraderef
(C) OpGERsfwen

(D) Ob®HepganL_wen

11
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23.  Whpsaid “Parliamentary system gives the Executive an opportunity for Tyranny”?
H.J. Laski (B) J.S.Mill '
(C) Spencer (D) Ramsay Muir

“unmenan wpen HlreurdlsE sTHrCareom & gaﬂuugrj}@ QUMUILILISENET Gug;)réj@aﬁ]p@”
erem Famluieui?

(A) H.J. arevd (B) J.S. Be

©)  Quansit | (D) gmbGe apit

24.  Which one of the following is NOT an item in the 11th schedule of the Indian

constitution? '
" (A) Social forestry (B) Health and sanitation _
(C) Public distribution system ) Prevention of cruelty to animals

Spsaar_cundle @pHu Sipflweawinder 11eug @il Lamanuie Gors s7és) eg)?
(A)  sepas sr@ser (B) 2L ped oHmid &&TSTHLD

(C) Qumg fICwTs aperp | D) kg amsLBsmOS s QsiIsH

25. J ﬁdicial system in India is
(A) Independent only
(B) Integrated but not independent
(C) Integrated only
Integrated and Independent

@pdu ssion Sl

(A)  szpdlmoneng wL B

B) @Eruioabss aTod &SHATLIES HenL wWrs)
© POESD@HSS WO

D) gmmudlmanbsg wHmb s&sbSlTLIGE)

ACGS/19 _ 12 B



27.

28.

Assertion (A) : The Governor shall hold office during the pleasure of the president.

Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Re}gson (R) :The Governor of a state shall be appointed by the president of India.

gapm (A) ! GWrsEs seeeuit 6dl(HLOLLD euen @B ugedludie) Hig L.
smypewid (R) 1 wrbleo <y@ppanrs Gl wrss saaali HlwblsHmm.
A) (A wpmpid (R) @rar@id af (R) eremugy (A)elen sflwimear eflenéasom@id

@B (A wpgw (R) @rar@w sfl (R) eranug) (A)eflen sflwne efenésid Sicve

©) A wl@w el (R) supn@Ew

- D) @A) saum (R) sflwngbd

Who appoints the acting Chief Justice of Supreme Court?

(A)a Chief Justice (B) Prime Minister
President (D) Vice President

2 &5 hflwanpsdlen shamails gamaen iudemw wi Hluwend Qe pmi?

A) saoeamw fHuS | I (B) dgswi

©O) EYwrss so@euT D) Eywrsgmans saaeur

The CAG of India can be removed from the office only in like manner and on like
grounds as

(A) 4 UPSC Chairman
Supreme Court Judge

(C) Attorney General of India

(D) Speaker of Lok Sabha

QBIw sewamw sarsE wHnL saflsms fsrfllien uged F68 pepuilar SiglLEL 6T
5510 Cureug

A) wsHwu sgal vesflurert CsTeureasugHlen Femaeur

B) ossbdlwern FHUSH

(C) @ndurellen ganaanio uLp&ESHM @k

(D) wé&seareneu FLMBTLIST

13 ACGS/19
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30.

31.

32.

* Which one of the following is a tax revenue for the states in India?

(A) Income Tax (B)y Custom Duties

(C) Excise Duties Land Revenue
GeneupeusieuHmar erg @ bSHw wirblenis@pssrear el umheuT?

(A) q—m@’mrfem eufl (B) gmseum

(C) &eomad euif] (D) 'ﬂsv QU (eI

In India in which plan poverty alleviation is adopted as the explicit objective?
(A) IV Five Year Plan QA V Five Year Plan

(C) VI Five Year Plan (D) VII Five Year Plan

@idwurele aumemw giilbamer gf CeualliuamLwrar Cpréswns QerarL CurheTTSy
S LD ergy? '

A)  4-cug pibg e HS S (B) S-aug mbs B HLbd
(C) 6-oug ppg Yan (s b (D) 7-cug mibg @G SlLb

India’s density of population as per 2011 cengus is

(A) 328 per Sq.Km. : 382 per Sq.Km.

(C) 380 per Sq.Km. (D) 362 per Sq.Km.
@ndHwrelen waser Qgrens Qadleurearg) 2011 waser Ggmans sames g6 Ll
(A) 328 puiser e &.41.18. _ (B) 382 puisdr e &.4.15.
(C) 380 purser ep(mp &.81.15. (D) 362 purser gm &.41.15.

The reason for disinvestment in Central Public Sector Enterprises are
1. Reducing the Public Debt.

2. Releasing the large amount of public resources locked up in non-strategic
PSEs, for redeployment in areas that are much higher on social priority.

Select the correct answer using the codes given below :
(A) 1lonly (B) 2only
Both 1 and 2 only : (D) Neither 1 nor 2
wsHw QurgIsgemp Hneuearmseaiien Lki@samer bl ClUMIEUSDESTET &TiF 6T hISET.
1 CQUTEIE HL T jeTenel (HMMSHSHEV. |

2. Qurgisgienn Hlmeuearmigatie) LWETUL MDD enL_S5) mm&a;uuL@aTm Cuyerey Gumg)
cuengdlenar wm LweTuT(H&@, 2 L uBss, s ds &@pg,rru.! WP&HWSFeUD uTUbHS
Liesfla@né @ ummu@;{,gﬂgw

@MuSHsafler @mba eflwmer eblenL sme :

(A) lwl@w (B) 2wl@w

(C) 1womb2 (D) 1 e 21b Sydo@

ACGS/19 14 " B



33.

34.

35.

Who gave a garden party to the delegates attending the Second Congress Session at
Calcutta?
(A) Lord Mayo ' (B)* Erd Curzon
w Lord Dufferin (D) Lord Macaulay

swssgredler pen_CQunn Qe meug srhdlyey wreld sobg QamamL Yrdfldla@nse
Cariigdle ell(mpg QsTHSSH wmm?
A)  wrGuwr Gy ¥ (B) sfsen 9yy _
©) L9 fer Qyy (D) QuwssrGa G
Who Led a huge procession against the Simon Commission on 20th October 19287
(&), Bhagat Singh '

Lala Lajpat Rai
(C) B.K.Dutt
(D) Raj Guru
2&5CLmur 20, 1928 b e, enswen Gelng adlmer e wrblum mnencugﬁm@

~ s@eawCupn HLgEweur wmi?

A)  uss &l
(B) oreregudl gmi
C) 9.Cs.35
D) 1R E®
December 1912, a bomb was thrown on ————— at Chadni Chowk in Delhi.

Lord Harding (B) Lord Curzon
(C) Lord Morley (D) Lord Minto
1912 wewufle, QLaduier odter snpHlafl GCgarsdlad crenueur 5
Qeuig@am(® eSeliulLg).
(A)  ammmig i Gy (B) sigen lQUI_j
(C) mied Ggy D) WbeerCGLm Qyy

15 : ACGS/19
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36. A shuttle cock used for playing badminton has the shape of the combination of
(A) a hemisphere and a cone

(B) a sphere and a cone
(C) acylinder and a sphere
) frustum of a cone and a hemisphere

EESTEID 6THS BQ)(H 2-(HeumIGemeT GlananTdsme ¢ @M@ Ubdlern eulg.auld SlenL_&@ELb
A) semysGsamend wHmb bl |

(B) Camemb WHIHILD SalbL]

©) eomeer LHYD Camerd

D) sbler QerLssa@TLID LHMD enr&EGCETETD

37.  Convert 40024, to base 10
(A) 2659, (B) 2634

w 2514, - (D) 2544,

40024 ; ®U USHIG LOTET CTERTERTTS LOMDH NS
(A) 2659, (B) 2634,

38. The difference between two whole numbers is 72. The ratio of the two numbers is
3:5. What are the two numbers? ' '

S 108 180 (B) 110,182
© 114,186 (D) 106, 178

Qm w aavsaflar elgHunsd 72. ps Q@ aanseaflan ellflgn 3:5 caafle Hs QY
TRTHEENETE SIS :

(A) 108,180 (B) 110, 182

(C) 114,186 (D) 106,178

ACGS/19 ' 16 B



39.

40.

4].

' % 10% D) .12%

Find the Range of first 20 natural numbers

&) 18 : A

© 20 e
(P QO@mebaG&M&aﬂGh@gé&

A) 18 : (B) 19
) 20 (D) 21

Which of the following 1s not a measure of dispersion?
(A) Range
(B) Standard deviation

Arithmetic mean

(D) Variance

5C1 Qan(ésiurLameasalld as) LiFaid Siarame Gdaa?
A)  oSis |

(B) @I'_L“GQGD&SSL.D

(@) =6 symed

D) Newss eunss syrsf

- 280 candidates appeared for an examination of which 252 passed. The failed

percentage is

(A, 8% | (B) 6%

e Csielle 280 Cuin swpbg Caram_euisefledr 252 Cur Csiedl Quppent aafler GCorgs

Quprgeursaier #gg6ig0
A) 8% ; ‘ (B) 6%

(C) 10% ' D) 12%

17 ' ACGS/19
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42.  Find the Median of the data
12, 14, 25, 23, 18, 17, 24, 20

@) 24 (B)y 23
(C) 18 : ) 19
12, 14, 25, 23, 18, 17, 24, 20 ererrm eleurmsaiiar @enLHlaaamwus srews
A) 24 | B) 23 '
(C) 18 _ D 19
43. Find LCM of 35a2¢®b, 42a® ¢b?, 30ac® b
(A) 120 a? b (B) 210 a® b?
(C) 30abec \M 910.0° b® ®
35a%c®b, 42a® cb?, 30ac? b B.Qum.b sraws .

(A) 120 a® b | (B) 210 a? b?
(C) 30abe ' (D) 210a°8°¢?

44.  Let A = HCF of (124, 88)
| B = HCF of (88, 52)
Which of the following is true?

A 4-B B) A%B
C) A<B D) A>B

A =124 wpmib 88 6 18.Clum.eu

B =88 wmmib 52 e 5.Qum.eu

arafler Spssamcupdled 618 o TEmOWINELD?

(A) A=B : . (B) A=B
(C) A<B ' D). A>B

45. Ramesh and Meena divide a’ sum of Rs. 25,000 in the ratio 3:2 respectively.
If Rs. 5,000 is added to each of their shares. What is the new ratio Meena and
Ramesh’s Share

() 413 A Bid

(©) . 3:2 (D) 2:3%.

gGweipuyd, Bermeyd em. 25, 000 o 3:2 aeap afssde &ﬂggé Qararr_ani. sigen 9DE
geubleurmeud ger umdled . 5,000 wpsedH Gl&u_laﬂsmgnmrr snGurg WBermeysE,
7GL6ips&s @D 2 drer unidler LHw eSlflgn

(A) 4:3 (B) 3:4

€ 3:2 D) 2:3
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46. Find the area of a semicircle whose radius 1s 28 cm.
(A) 618 cm? . (B) 144 cm?2

M 1232 cm? (D) 784 cm?

9Ly 28 Qlg.15 5 eoLw S TeUL L SH e LFLIUETE| &HTes
(A) 618 Qe.5? (B) 144 Q.52

(C) 1232 Qg.52 (D) 784 Q&.152

47. The lateral surface area of a cube of side 12 ¢cm 1s
(A) 144 cm? (B) 196 cm?
.M 576 cm? (D) 664 cm?

12 cm USSs jeney QsTamL SaTEsgTsSlen LEsL LFliL
(A) 144 Qs.8 (B) 196 Ga.i5°

(C) 576 Qg.15 : (D) 664 Qg.15°

48. A cone of height 24 ¢cm is made up of modeling clay. A child reshapes it in the form

of a cylinder of same radius as cone. Find the height of a cylinder

(A) 42cm (B). 48cm -

MScm = a0 (D) 21 em

safleroasrar(® Ceuwiul’ L 24 cm gmg@mm R(H FbeU @ GBS HEs Y Tperer
@I 2 (HeneTwns IHNF DS erafle) 2 (mepeTudlen 2 WIFLD SIS
(A) 42 QsS , (B) 48 Qs.8

(C) 8Qs.8 I (D) 21Qs.8

B - 19 ACGS/19
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49.  Neoprene is a polymer of the following monomer

(A) Isoprene

\A Chloroprene

(C) Isobutane

(D) Isopentane

HCwmeLiflen ererm LU Camow, Wemambd 6rhs @Huly Carodans ClararLg)?
(A) @Csr.uffen

(B) ECemnCGrr.Liffen

C) glsmAy GLan

D) xCsrQueGLénr

50.  Which one of the following is a main component of fertilizers?
(A) Chlorine
(B) Hydrogen

(C) Methane

d Ammonia

SpssarT_cupmieT ergl 27 swrflés LweruBib Ws wadlw Qurmer
A)  @Carmilen

(B) aanlyger

(C) B&Csen

D) <wCwraflwur
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51.

52.

53.

An element has binding energy 8 eV per nucleon. If it has total binding energy of
128 eV, then no. of nucleons are

@) 8 .\KIG

C) 32 ' (D) 64

2@ saflwsdler Gaariurhpad 8 eV am Siagnssmagiss. Aurss Geamiurmpd 128 eV
CTETED CTEHSHENEN |G &S(THELGTSET 2_ETETEN ?

A) 8 ' - (B) 16

C) 32 (D) 64

The mirror used in astronomical telescope and search light is
(A) Convex mirror
(B) Plane mirror

(C) Cylindrical mirror

A Parabolic mirror

aurafle GgsreneGrrasd wHmb swmsmr alas@sefler LweTLHD Dplg.
(8) e b '
(B) - swser 9ilq

(C) o (mamer yig

(D)  upeuemeTws 2yiq

Within the elastic limit, stress is directly prOport10nal to strain. Who discovered this
law?

(A) Newton : (B) Kelvin

M Hooke - (D) Socrates

BLA erdes@e gm Quimeild ghu@L sesea) @ige HNLsE Coir Hss80 B HHEELD.
@ns allflaw sy SHeur wimr?

A)  Hyr e (B) Qswefer

(C) ams . D) sradlyl_Lev

21 ACGS/19
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54.

55.

56.

Jelly fishes does not contain special organ for ' and

(A) Nerve and Sense ‘ _ (B) Muscle and Circulation

(C) Digestion and Circulation M Respiration and Excretion

Omeedl WBarsefler saflwnes srawiuLng 2 mlLseTTeUEN LOHMILD
(4) prby wHmd 2 ewriEs) (B) soswhmb Qr6s L Lb

(C) Gefwrend whmbd Qrés el (D) seuns 2 muy wpmb sley Bés o miiiy

In plants waste product of Cystolith commonly known as
\M Calcium carbonate crystals

(B) Calcium oxalate crystals

(C) Stellate calcium oxalate crystals

(D) Cluster crystals

sraugmseiles  sPfley Qummenmer  SevCLrallsy eramiu@eug @eueumrm  Qungleuns
SIDPSSLILI(HILD ;

A)  sroflwb sriuCeail. Lg&sRIGET

(B) sreodlwb g seGal. UgsmigeT

(C) evQLeer sroflwb sevCeal Ligsmser

(D) Qsrgsren LigsmiseT

The chromophore of phytochrome is linked to its polypeptide through
(A) ., Nitrogen atom (B) Phosphorus atom

M Sulphur atom (D) Oxygen atom

eouGLrgCrmiar  @GrmCGuwrCGurt  asgyeetw  urdQuiueLBrer g P

QeemssuL(Herearg)?
(A) ovpLlgmen Sigm (B) umevugen oiemy

C) sH55 e D) sedimern 2igm)

ACGS/19 22 e " | B



57.

59.

60.

Whgt 1s the maximum weight limit allowed for letters and parcels of speed post?

35 kg (B) 40 kg
(C) 30kg (D) 45kg
&ifls Ceeneu sig D HMID LimigeSlan SA@wasiul L HHEULE TaL eTeueUaTey?
(A) 35kg (B) 40kg
(C) 30kg (D) 45 kg

Solar cells with excellent light absorption, charge - carrier mobility and life times
resulting in high device efficiency use

(A) Gallium - (B) .Gallium Arsenide

(C) Gallium Arsenide phosphide ‘V Perovskite materials

Gflu gofl WarswsHd <ifls gafl 2 Meregen, Waelams Csiel Quasd WLHMD QUTHHTET
CQarar_ oidla smel Qus@EGsHne s7&8m1qw QummET

(4) Ga (srellww) (B) GaAs snellwibd <y igenan_

(C) GaAsP anadlwib yigenar’ unevenu (D) Perovskite QuGrnavenst_

Which of the following statements is not correct regarding APJ Abdul Kalam?

(A) He was born on October 15, 1931

(B) He was honoured with Bharath Ratna in 1997

(C), He became the President of India in July 25, 2002
He received the Nobel Peace Prize Award in 2005

Spaam_ameusaiie 6r.19.C. Bilig@smd upMlu sapmiselles seupTars) 615?
A) @Qeur 15 5CLmuir 19316 GppemiT

(B) 1997 Qeums@ unys gdenm Ll L b QesrH&stul L g

(C) 25 m9me 20026 Geuit @bSHw marmdudwins QurmrGLHTT

(D) 2005 gyib pe(h), Siemwdssrar Crrue uflassnear edlmdamer QuDDTT

In India, how many Parliamentary constituencies, the seventeenth Lok sabha
elections were held?

(A) 543 ' 542

(C) 545 - (D) 541

Gpduneler ergsemen unymEenwearn QAsr@dseiie, uHCarnpreaug wasarmasbstar CaHTHo
B QuDHDE)?

(A) 543 - (B) 542

(C) 545 (D) 541

23 ACGS/19
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61.  Civil Services Day is celebrated on ' every year.

% April 21 (B) May 21
(C) June 21 (D) July 21

“Glgamwliuent Semb” eeubleimm eumLpb Aararm_uu@dern Brer
&) gure 21 (B) Gw21
(C) ggoarn21 _ (D) 29me 21

62. Which i1s the Government’s apex cultural body in the field of Visual Arts in India?
(A) ., Sangeet Natak Academy - :

M Lalit Kala Academy .

(C) Sahitya Academy
(D) Darshan Academy

@pdHwreiler sr’_é gnipg same QsTLTLTET STH6T 2§ SOTFSTT SELOLIL| 6TE? -
A)  srbspré osm

(B) «elssor s

(C) evradsw ism_Ll

(D) sragen &TLLO

63.  The Supreme Court verdict which ruled that the basic structure of the Constitution
cannot be altered was

(A) Golaknath case (B) Shankari Prasad cése

(C) Waman Rao case : Kesavananda Bharathi case

@iHus Sirflwc grgarsSlen gLl Senwlienu rHm @uiens) ererm s o &g Bloer

Sriiumeng
(A) Caresprs ailpsE (B) esmisfl Gpensg aupss,
(C)  eumen ey e, (D) Gasaupbst Lnrd eupsE
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64.  Which city is called land of the Gazelles?

(A) - Aimsm city qﬁf Abu Dhabi
(C). Dubai city (D) Sharjah city

wrengaflen FEID eTaTme&sILI(HeUS TE?
(A)  simwren BSTLD (B) eysmd
(©) gumd psyw 0 (D) egnimr psrD

65. When was Chandrayaan-2 launched?

% " July 15 2019

(B) July 13 2019
(C) July 25 2019
(D) July 23 2019

shHSpTwET-2 geuliul L BITeT 618)?
&) 59w 15,2019
‘B) m9ma 13,2019
€) m9me 25,2019
D) mOme 23,2019

66. Pink noise is related to

w Chmate change (B) Air pollution
(C) Water pollution (D) Land pollution

@ererdlouliL) §55 eT&Camm(H CgTL M enLWwig)
A) sreflame wIHHLD (B) smhm wreur@
(C) B wrsur@ . (D) He wrasum@

B ‘ ' 5245 ACGS/19
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67. Induly 2017, : was launched in India.
(A) Demonetisation
w Goods and Service Tax
(C) .Insolvency and Bankrupt code

(D) Swachh Bharat Mission

@pdwureler, mOame 2017-60 ——————— il wasiuBGESSIULLg).
Q)  vewr $55 pem

(B) ueaw_miser LD,f_f)gl!L'Elﬁ Ceeneu curfl

€  amd Apmgiy Hlow GG

D) ssrgry @bHur b

68. “Access, Equity, Quality, Affordability and Accbuntability” — are guiding goals of
M Draft National Education Policy (2019)
(B) New Economic Policy (2018)
(C) Educational Planning

(D) Indian Universities Act (1904)

“DeML_Ge0, FLDGGIAULD, LD Gumé;aa-xuq_u_lgﬂ wHmbd QurmliyenLew” Cureanena

Qararenass@ cudlam_(Hb GH&Careaiserns @(madlemmg).
(A) Csflu saell Cararens Guémjsu {2019).

B) ydHw Qumrmerngry Gsmerans (2018)

(C) saelew gL BRGe |

D) @ndu LwsmssPsRGT §_L b (1904)
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69.

70.

71.

Match the following :

Desert Country
(a) Kalahari 1 India
(b) Thar 2 South Africa
(c) Arizona 3.  Australia
(d) Great Victoria 4. USA
(a) b))  (© (d)
e 2 1 4 3
B) 1 2 -3 4
C) 4 2 3 1
Ly 4. .. 3 2 1
Yetreu(meuareuhenm GlLIMmHESSIs
UTene) G GITLD Br(H&eT
(a) sewapmfl 1. @ndlwum
(b) s 2 Cger pdfaas
(c) <=MGearemm 3. endCredlwm
(d) Quilw ele&CLrflwm 4. 3G f&sm

@ (B (© (d)

A 2 1 4 3

B) 1 2 3 4

@ o ey

D) 4 3 2 1

What is the ideal temperature required for survival of coral reefs?
W 20°Cto21°C (B) 18°C to 19°C

(C): 21°Cto 22°C (D) 22°C to 24°C

veueT LmenmaeT 2 Uil eumpeusn @ 2 &5Hg GeuliLiflenay iemey ereueUeTey?

(A) 20°Qsto 21° Qs (B) 18°G@sto 19° Qs

(C) 21°Qs to 22° Qs (D) 22°Qs to 24° Qs

Which of the following place is unsuitable for the generation of tidal or wave energy?
(A) , Gulf of Khambhat (B) Gulf of Kachch

M Gulf of Mannar (D) Estuary of Hugli
Qéau(mid cTeuedlL b @5 1M E) SL i s&8 o HusE Qe QUTHESLHD GeTm?
(A)  smbuS euemeT@LT (B) &&euemargLm
(C)  wenenit cuenaT@ELIT (D)  am~gefl QUG Wsb
27 ACGS/19
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72.  The people at Kurunji worshiped

M Ceyon ' . (B) Moyon

(C) Vendan (D) Korravai
@D Epd Hlawsser ——— Qslusms cuamTRISl @i

(A) GCsGwmen (B) wrGwmexn
(C) Ceupgern (D) Qarppereu

73.  Who was the founder of the Central Hindu College at Banaras?
Annie Besani;
(B) R.G. Bhandarkar
(C) Madam Blavatsky
(D) Col. Olcott

- Larmredle waHu Qs sowmflew Hnedweui wiri?
A)  oarelQusen
B) <. ). USTLmisT
(C) Gurib Gereul_civdl

D) s g oam

74.  Who was the successor of Shivaji? |
(A) Raja Ram (B) Tara Bai
M Sambhaji 2 gt (D) Sahu

SounedsE 210 S5 <iflwerent gPlweui wim?
A)  @uomgm gmd (B) smpmumd

(C) emburgl D) ey
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76.

is popular dance in Uttar Pradesh and Rajasthan
(A) Odissi
(B) Manipuri
(C)o Kuchipudi

Kathak
2 58\m9yCGaebd wnmibd gregevgrear wrklonseafled YspELHD BL D —————— 4@.
®)  gud
(B) wesflyf
©) oFsuyg
D) ss&
The all India Service Act of 1951 specifies that ——————— senior posts of All India

services are to be filled in by promotion of officers employed in state services.

@ nd
1.4
3
1
©) Zth
D) +th
5
2o @pHw vexflaer s b, 1951 ar g ————— evelorer Sfle QbHw uaflsafle
2 crer @L_ruser wrfle uefluiley o_dter apss dflemiaErss egisaliuL. Geuam(HLb.
1
@ 3
1
B =
B =
1
S
1
D) e
D) 5
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77.  Qualifications for member of parliament is mentioned in the Article —— of
Indian constitution.
A)  71(3) | (B) 102
(C) 285 ‘ﬁ 84
@Qrdu sirflweamoiler 64 —————— urprEswery e mulamEsTan HEGSHGmarLs
UDHWISTED.
A)  71(3) (B) 102

(©) 285 (D) 84

78. In which year National Mission for Empowerment of Women (NMEW) was
launched?

(A) 2007 (B) 2008
(C) 2009 - d 2010

eThS Gu(mHLLD QUeRTEEnHEHE emﬁ&;nﬁb Seflsge eramm Caélws QQ_L'D Qam_risuulLg)?
- (A) 2007 - (B) 2008
(C) 2009 (D) 2010

79.  Which one of the following was a Part-D state in the territory of India in 19507
(A) Cooch-Behar
) Andaman and Nicobar Islands
(C) . Saurashtra

(D) Jammu and Kashmir

Spsaar_cundled 1950e @ndlw Hlotugilber ugd - D wrblewrs @@mbs8) 6TE?
(A) gas Ssmm

(B) <ipswrer HCsTUnT Soyser

(C) Qasergraggym

(D) b wHmID STaPST
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80. .

81.

B2

According to the administrative reforms commission, the financial year should begin
0

) 1st November (B) 1stJuly
(C)  1st September (D) 1stJanuary
Blireurss §mélmss pemanmwugder Lflbgenyliuig Hl e geunis Couamigw Brar
(A pauburl (B) 9@ 1
(C) Qeurwpurl (D) gareufl 1

With reference to Lok Adalat, consider the following statements :

1. An award made by a Lok Adalat is deemed to be a decree of a civil court and
no appeal lies against there to before any Court.

2 Murder cases are not covered under Lok Adalat.

Which of the statements given above is/are correct?
1 only (B) 2only

(C) Both1land2 ' (D) Neither 1 nor 2

Cars sigras LHdlu Spssam shnsamer Lflfovmer Qsws :

1. Goorrd &45&6\){&;&1@ Sy ef eampelwe pdwerns SrudnE swwraETS
shsULU@eugiLar 9p BHwernrisaien siger g G weanui® Qauw @uiens).

2. Gareoe auws@sd Cans igraosgdlear ererenauien G)_IUJT@.-

@& ampmisatiey 618/ eraneu sflwmangm@n?

(A) 1wl @b B) 2wl @b

(©) 1 whmb?2 dweneu (D) 1 whmibd 2 HevLwing

is the largest naturally occuring source of commercial energy in India.

Coal (B) Fire-wood
(C) Cow dung ' - (D) Natural Gas
Qiduneller Qupamswuns Hs ereller HwLsEb eallsbd srihs  erMQuUTHET
24 (GLD.
A)  Hess (B) Ampmuys s
(©) uwa&s sleyser D) Qunems eumyy

83. ‘Ci?yensatory pension scheme was followed in Tamil Nadu from

2004 (B) 2003
(C) 2005 (D) 2006
umisatiy @uapdlus St b slpmm g6 & @(mhg GewuduBSHng.
(A) 2004 (B) 2003
(C) 2005 (D) 2006
31 : ACGS/19
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- 84.  The National Income in India was first estimated by
(A) William Digby Dadabhai Naoroji
(C) Findlay Shiras (D) V.K.R.V.Rao

@idwurefe Cailw aumeurenws Wae (ps6edle sassH Cewigar
(A)  elevedlwib flsanus ' (B) srsmumi GperGrmed
(©)  cu9dnGe Symav (D) V.KR.V. g

85. WTO is the continuation of

- (A). International Monetary Fund -

j GATT

(C) International Bank for reconstruction and Development

(D) Asian Development Bank

WTO —ér Qariié arg?

A)  usrem’ (G Hf Hpeuand

(B) sm_ (GATT)

(0 . { o Do Sy el ki

D) <dlw eueriad i)

86.  Which Viceroy was mainly responsible for the clashes between the moderates and
the Extremists?

(A) Lord Minto . J Lord Curzon
(C) Lord Morley (D) Lord Canning

Bgeurdla@ErsEn Selreunds@Ers@n @ Guw smss Coupur® euery WEEW sTrewTons
Q@55 eaudlymis wni? | |
(A) WewGLm Gy | (B) srgen Gyy

(C) ormed Gy (D) snefli Gy
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87. The aim of the mutiny of 1857 to the proclamation of ————— as the Empéror of

Hindustan.

‘ J Bahadurshah — I1

(B) Akbar-1I
(C) Bahadurshah —1
(D) Shah Alam —1II

1857 b e Yy fullen Crrésn aearueuany @ngievsraien Cuyrerrs

“rsLeru(Bss Couan(Hb eSS @ (HHSS.
(A) @newLmb usgiTagT

(B) @rewrLmd isui

(C) @pgend usgiTagm

D) @b apr—,eb

88.  Who is called the prophet from the south?

(A) Kamarajar

A Periyar

(C) Annadurai
(D) Karunanidhi

Qsndle Carandlu Siaas sl arar SewsstiuBUeUIT WTT?
(A) smopTgT

(B)  Quflumi
(C) 'aieﬁﬁrmr@mu

D) smewnHlS

B 33 ACGS/19
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89. The averagé of first 100 natural number is
(A) 50 (B) 51
(C©) 495 M 50.5
s 100 Qe eramsafler gyme
(A) 50 : (B) 51
(C) 495 ' (D) 50.5

90. Convert 1.45 into £ form

q

11 16
@) = Tl

14 45
C — . D) —
©) 1 ) T
1.45 & £ suq.aﬁlé) LOTHMIS

q

11 16
T B) 7

14 45

o] o =2
(_C) i M) -+

91. Find the value of

Y-121+3 61+ V-26+%-1

A) 5 J -5

C -4 : D) 4

WS SreTs

Y-121+Y—61+¥-26+3-1
@A) 5 B) -5
€y -4 D) 4
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02.

93.

30% apples out of 450 are rotten. How many apples are in good condition?

A) 310
@( 315
(C) 320
(D) 325

450 uGersefler 30% 2ipdl L g) erafleh Bever L 1YeTsatlen eranTentlsans

(A) 310
(B) 315
(C) 320
D) 325

The monthly income of 6 families are Rs. 3,500, Rs. 2,700, Rs. 3,000, Rs. 2,800,
Rs. 3,900 and Rs. 2,100. Find the mean income

(A) Rs. 3,500
\g{ Rs. 3,000
(C) Rs. 4,000
(D) Rs. 4,500

6 @@ wuRsaier LI aumeumi wenGw, 3500, 2700, 3000, 2800, 3900 wHmb 2100 erafle

cueurulles symaflenwd smer

A) ¢ 3,500
B) e 3,000
(C) 5. 4,000
D) . 4,500

35 ACGS/19
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94. A cubical tank can hoid 27,000 litres of water. Find the dimension of its side

(A) 27m (B) 1000 m
\x 3m ' (D) 9m '
@ sadgg)y eugeu Brs0smiguilen Gamererarey 27,000 i araflé DIGEN LSS jeTeneud
EE
(A) 278 (B) 10005
(C) 3.8 D) 9.5

95.  The value of a machine depreciates by 10% each year. A man pays Rs. 50,000 for the
machine. Find its value after three years

(A) Rs. 35,650 Rs. 36,450
-(C) Rs. 35,450 (D) Rs. 37,450

et Qupdrsdlear snCGuremsw wHuy . 50,000 @sen wWHLIY gaQeunm paT@BL 10%
GDDHSTED ePET) BT (H&(EH6E, et @gen i erenen? :

A)  em. 35,650 (B) . 36,450

(C) em. 35,450 - (D) em. 37,450

96. Two dice are rolled and the product of the outcomes (numbers) are found. What is
the probability that the product so found is a prime number?

7 4
@ 35 B %

5 : .‘6
© = ,;!5-3-6;

B usaL st @Gy Crrgde o L uuBbCurg HaLsEb ps aanseaia QUmBESD Lwer
@ LST TaenTna @MUUSHETE Banssaiamand: sreams.

7 4
@) 3¢ B 35

) 6
© = (D) =g
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97

98.

99,

100.

Simplify :
1 Hectare : 150 m?

D 200:3 - (B) 2000:3
0) 2073 oDy 2 3.
G(H&ES : '

1 QamsLir: 150 52
(A) 200:3 (B) 2000:3
) 203 - ' M) 2:3

At simple interest, a-sum becomes 8 times in 20 years. Find the time, in whlch the
sum will be double at the same rate of interest.

(A) 8year 10 year

(C) 12year (D) 14 year

safl auliguie g Qsreans 20 aumrgdle 3 wLrksrdpg, HCs nglrrma; 21Gs eul_igulléd
GTEUGUETE| STVSHSI @ TeT(h LOL_EISTELD.

A) 8amLw (B) 10 eumLid

©) 12 aumLid D) 14 auLid

Vijay invested Rs.10,000 at the rate of 5% simple interest per annum. He received
Rs.11,000 after some years. Find the Number of years.

(A) 3years 2 years

(C) 4years (D) 1year

efleois ¢m.10,000 o 5% eul' g eSzsdler evautiy Hwrss Qegisgfpmi. arsgmen pamBHsatien
11,000 epumenws Sjeui Quimeuri?

A) 3 yan@sefler | (B) 2 yam@sefle

(©) 4 yam@seaie ' D) 1 yernge '

Find the HCF of 225 and 450 by Prime Factorisation,

(A)y 15 (B) 540
225 (D) 450
225, 450 @eunihe usT sryet] penmude 15.QuT.cu. srers
A 15 (B) 540
(C) 225 (D) 450
37 - ACGS/N19
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response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles &) ,(®). (©) and (D) against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

®0® 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, vou must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




